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SECTION - A

Answer any FIVE Questions. Sx14=70 M
K
I. a) Findthe inverseof [2 -2 0
I 2 -]
1 2 2
b) IfA=[2 1 2/ then show that A- 4A - 5] = 0.
2 21

2. a) Iftan A :g and tan B = i Show that (A+B) = %—
11

-12 24 |
b) If cosA = 13 and cosB = TR Find sin (A+B) and cos (A+B).
3. a) Find the value ofx, if the slope of the line passing through (2, 5) and (x, 3) is 2 and
find the straight line equation ?

b)  Find the equation of circles with centre C and radius T where C = (2, -3), r = 4.

4. a) Computé fim (1/x2+x——x)- S

3 n—> o0

b) IfSiny=x Sin (a+y), then show that —y=w

T . (ais not ltiple of m).
Sy —‘Sina (a 1s not a multiple of 1)

2x* -3 :
5. a) Evaluate f x\mdx for x > 0 and verify the result by differentiation.

D

Cos*x

b) Integrate II+S'
inx
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6 a) Solve (D7 - 4D 4 )y~ 0

b) Sohc
vh A\l |
7. By using the lincarity property of | aplace transform, show that

b

(a) I (coshat) )
(s“-a’)’

) L= ';,
"

T




Total No. of Questiong : 8] PD16 A
1I/V1 PHAR [ Total No.of Pages : 02
MA-D (REGULAR) DEGREE EXAMINATIONS, DEC- 2021

First Year

RLMI* DIAL MATHEMATICS
(Wlth E ﬂcuwc from 2()08 2()()9 Admm(,d Batch)

—_—— — — —e : R
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PART - A

Answer ALL Questions.

Each question carries 2 marks.

10x2=20M

. 14] id
I. a) Find the product of the .a “land | € | where 2= -1.
ib a id c r

b) Find the value of cos 15°.
Find the equation of the line containing the points (1, 2) and (1, -2) v
\\

d) Show that lim, ,, (sinx cosx) =1.

: _ dy
e) Ify=e¢e* find e

f) Evaluate f (sin 27rx+—l-)dx-
X
2
g) Find j(x3+2)dx.
1

h) Find order and degree of ( 3 )3 — _‘zJ_’+2 :
dx dx

Find the Laplace transform of e?' + 4¢*..

j)  Find the Laplace transform of (cos 2t)’.
PART -B
Answer any FIVE Questions.

Fach question carries 10 marks.

Sx10=50 M

Solve the following system of equatlons by matrix Inversion method :

+3z=35, 4x+2 0X+3+ZS
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b)

b)

1 a a’
Show that [l & p*| =(a-b)(b-c)(c-2)
1 ¢ ¢
tan@-+secO0—1 _ 1-+sin0
cos0

Prove that tan 0 —secO+1

Find the value of sin 45 cos 30 - cos 45 sin 30.

) cosax —cos bx
Compute lim, ,, ( - ) .
X

If for x > 0, x¥ = &*¥, prove that —= & __x)
dx x(l+1ogx)

\2
z 0’z

z= x2+y2+x2 then find gz
*, then fin o

If u= sm rove that Ou
(‘/—4—‘/—] F o0x oy

Evaluate I x (cos x)? dx -

Find I
S 4cosx

Solve (x 2 +x) dx + (y x> +y) dy=0.

dy ,
Solve Zx_+ ytanx=(cosx)",

Find the Laplace transform of €™ (2 cos 5t - 3 sin 5t).

Show that. L{tcosat} = a
( +a )
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Answer any FIVE questions.

All questions carry equal marks. 5X14=70M

l. a) Evaluate the cofactor of ‘a’ in the determinant |3,-4,3;2 7 a; 5 -9 2|.

b) Find the value of ‘x’ |3-x 0 0; 0 4-x 3° 0 3 6-x]

2, Prove that
a) Sin’*x+ Cos® x =1 b) . Sec’x-Tan’x=1
3. a) Determine the equation for straight line passing through the points (1,2)
and (3,-4)
b) Find the length of the perpendicular from (2,-3) to the line 2x-y+9=0
4. a) Solve the Laplace transform of Sin2t Cos3t.
. . s +1
b) Find the inverse Laplace transforms of 1og( - J
S$T -
5. Integrate
a) o Sin®x dx b) o Cos’x dx
6. Solve the equations
d'x d’y _
» (dt4)+4x=0 o, (df e
7. Fins the n® derivative of
X ' .
a) (x? +a2) o b)  e"cosx cos2x
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Answer any FIVE questions.

All questions carry equal marks. 5X14=70M

3—-A 0 0
. a) Find the value of ) 0 4-x V3 =0
) I3 “B=X
(l'y—f—c)z a’ a’ _
| ? * p |=2abclat+b+c)
b) . Prove that 8 (c+a) d , abe(a+b+c)
2 Yoo (a+0)

7 c
The lengths of side AB and side BC of a scalene triangle ABC are 12 cm and 8 cm

- SN
respectively. The size of angle C is 59°. Find the length of side AC.
Find an equation for the line that passes through the coordinates (4,0) and (0,6)?

3.  a)
Find the slope of the line through (0,1) and (2;-3)?

b)
4. a) Find the Laplace transform of sin2t sin3t.
_ | 45 +5

"b) Find the inverse Laplace transformation of ( < __.1)2 (s+2)

3 .- a8 Find the equation of the curve passing through the point (1,1) whose differential
equation is xdy=(2x*+1)dx (x = 0) :
b) Find the general solution of the equation (e“' I eﬁ'\')d)’ - (e.\- - e_V)dx =1l
0
~ Tvall Jt(t—2)dt

6 . a) Eyeluate j; ( )

T e’
b) Evaluate f I:ez—"'dx

4



Find the n" detivative of
| )
—7 b) yﬂcos(ax-kb) :

B ] e

4_//&
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I/VI PHARM.D (Regular) DEGREE EXAMINATIONS, JULY/AUGUST- 2017
i (Examination at the end of First year of 6 Year course) ,
;, . Paper VI- REMEDIAL MATHEMATICS | et
épf Time: Three Hours ' Maximum marks:70
‘! : \ Answer any FIVE questions.
é All questions carry equal marks. 5X14=70M
f 3 —4 -3
1% a) Findthevalueof \ |2 7 (M=0
B : % 5 -9 2
& ‘ i a b e
b) Prove that [p+¢ c+a a+b = _(a—b)(b—c)c—a)a+b+c)
, B b* | !
@\ ‘The lengths ofs1deAB .'e'nd s‘i—de‘BC‘ ofa scalene triangle ABC are 10cm and 8cm
respectwely The size of angle C is 60°. Find the length of side AC.
3. a) F ind the equation. for the line that passes through the coordinates 24) and (0,4)?
iy : F_md the sloperof‘the line throqgh( -2,3) and (2,-3)?
4. a) k ; Find the Laplace trahsform ¢sin3¢cos 2t -
, % ;3 .
b) : 'Fmd the mverse Ijaplace transformat1on of m
5 | a) % lF 1nd the equat1on of the curve passmg through the point (2,1) whose differential
, » equatlon is xdy—(2x2+x+1) dx where (x=0).
p)iv. ' Fmd the general solut1on of,the equat1on sec xtan ydx+sec ytan xdy =0
Js 6. g) i, Evaluate f te .sin td’

L i s i -
v b)Y ..'Evalllate fl—l—'ez"?’x e Y
7. Find the nth derivative of

’ ’a)‘» GoD@x 3y b) Cosx Cos2x Cos3x.

-
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Answer any FIVE questions.

All questions carry equal marks. 5X14=70M

Determine the rank of the matrix.

N = -
N AN
v N W

a)

b) Solve the equations 3x+y+22=3, 2x-3y-z=-3, x+2y+z=4. using matrix method.
a) Calculate the length of the side AC=x of ABC triangle, given that sin6 =0.6, BC=12.

b) Prove that Sin?6 +Cos® 0 =1
a) Equations of the two straight lines are 6x-+4y+12=0, 6x+5y-9=0. Find the equation of

3.
the straight line perpendicular to 3x+5y-21=0 and straight line passing through the

point of intersection of the first two equations.
. 3 \.ll
b) 2x+2y-10=0, find the equation of the parabola whose focus is the point (-3,4).

a) Find the Laplace transform of w
t

b) Find the Laplace transform of — i
) Find the Laplace transtorm o oDl (s+2)

. , (4x3 +2yzz)
5. a) Show that f(xa.y’z) - (x+2y+32)

| L x 3 | du du
b) If #=sIn 1 (;J +tan” (%) , prove that X(E) +y (_d_y_) =0

6. a) Evaluate Ie” cos (1 + e")dx

is homogeneous.

3 71: 3 ‘ .
: b) Evaluate jSln (21 +-2"') dt = i/; | i
0
7. Find the n® derivative of
a) ¢*sin’x b) ¢* cosxcos2x




